

















Q belt has acceleration 1ms 2

ai

a Net force on Man

b If Astana 0.2 upto what

accelerationof belt can man continue to be

stationary

a fman Man 65 1 65 N

b frictionalforce NR µ mg
0.2 65 10

130N

ma 130
a

13,1 2ms 2

Q In a

3m c
m 4kg

site I0 D t

what is the force acting on particle for
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b Oct us

c t us

Motion may be considered
to be 1 dimensional

find Impulse at t os t 4s

solution
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0 75m51
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a t 4sec

se 3m

off u o u o a O
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Impulse at t 0sec

I change in momentum

MCV U

Osce Just ate It velocity
i s is YEA
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Q A disc revolves with speed of 3313 rev min
has a radius of 15cm
Two coins are placed 4cm 14cm away
from centre of Icd disc

If coeff of friction b w coins record

IS 0.15 which of two coins will revolve with

record disc

D 3342 rev min

ET

µ 0 15

2force
1 centrifugal force
2 frictional force

frictional
force Centrifugal

force

f 3 Fc
WR my lung 3 ME

ng I



Ng war v ar

If this condition is satisfied then coin
will rotate along with disc

U reulmin
coint 8 4cm Igg reulsI

628 GTV 28 4172022

4 3 14 3 14 1 8 13 x 4 152

49ms 2

µg 0 15 10 1 5m52

Ng war

coin will rotate along
with disc

W2y 4172 v28
4 3 14 3 14 48

1
g

X 14 152

1 705ms 2

µg
o 15 10 1 5m52

way ng coin will not

rotate along with disc



Q motorcycle curved track radius 500m

given coeffof friction 0 5

g to

what should be maximum speed to avoid

skidding

f to IT
µHg my

v jury v 50ms

Q
The pulleys strings

858 shown in figure are

Smooth and ofnegligible
T t mass

T for system to remain

Em in equilibrium angle
O is

M y M

270050 52mgI Emg 2mg coso 52mgmg cos 0 1
52 0 450


